

Outdoor Adventures Equipment Funds

APPLICATION GUIDELINES – Revised 7-1-2017

- Award Range: \$1000 maximum for 2017 (\$2000 maximum for Travis County and all joining counties)
- Available Funding: Funding levels are approved by the Outdoors Tomorrow Foundation Board of Trustees. The amount of total funds for equipment will be approved by the OTF Board at the beginning of each fiscal year. The total number of recipients each year will vary based on the actual dollar requests of the equipment as well as the total funds available in the funding year. Funding for 2016 is provided by Cabela's Outdoor Fund.
- Application Deadlines: All applications are due on the first day of each month.
- <u>Notification of Recipients:</u> Approximately two weeks from the scheduled Outdoors Tomorrow Foundation Board of Trustees monthly meeting.
- <u>Project Duration:</u> The project duration is 12 months. Any unexpended funds will revert to the Outdoors Tomorrow Foundation at the end of the 12-month period. All proof of purchase or copy of Purchase Orders must be provided to the OTF during the project 12 month period.
- Applicant Eligibility: Funds are limited to OTF Outdoor Adventures education programs in good standing. Purchase of the Outdoor Adventures education curriculum is required before application process begins. All equipment funds are matching funds. Applicants must have an approved purchase order for the equipment in order to be considered for equal/matching funds from the Outdoors Tomorrow Foundation's Outdoor Adventures education program. Or, the school must show proof of purchase of outdoor education equipment prior to purchasing the curriculum. This will ensure at least \$1000 in equipment was purchased for the program.
- <u>Eligible Equipment:</u> All equipment to be purchased must be approved for instruction in the Outdoor Adventures education curriculum.
- **Proposal Review:** Proposals shall be objectively reviewed by the OTF Board. Prior to submittal, the teachers' principal's signature and qualified school administrator is required.
- Equipment Ownership, Warranty and Liability: All equipment purchased for the Outdoor Adventures education program with the Outdoor Adventures Equipment Fund will be using matching funds. All equipment ownership, equipment warranties, maintenance and liability will transfer to the receiving school district. The Outdoors Tomorrow Foundation will not be held liable for the equipment warranties and maintenance. It will be the responsibility of the school district and the employees trained for the specific equipment use, to maintain the equipment and the proper utilization of the equipment. If a school district decides to cancel the Outdoor Adventures program, the school district may approach the Outdoors Tomorrow Foundation to purchase the equipment at a depreciated value.
 - Submission of Proposals: All proposals must be mailed or emailed to Scot McClure:

Scot@GoOTF.com

Outdoors Tomorrow Foundation

Outdoor Adventures Coordinator P.O. Box 543305 **Dallas, TX 75354**

Outdoors Tomorrow Foundation

Outdoor Adventures Equipment Fund Application **COVER SHEET**

DIRECTIONS: Please click on shaded box to begin typing. Press TAB to move to next section. PDF documents may be handwritten. Make sure everything is legible.

Name of Project Chairman:			
Campus/District:	E-mail Address:		
Grade Level:	Subject(s):		
School Address:	School Phone:		
Title of Proposed Project: Anticipated Date of Implementation:			
Total Dollar Amount Requested: \$			
This is to acknowledge and verify that this Application is subdeemed part and parcel and included in this Application.	eject to and governed by the	ne attached Guidelines which are	
Applicant Signature:	Title	Date:	
Principal/School Administrator Signature:	Title	Date:	
Dlagge J	olivon to		

Please deliver to:

Scot McClure

NOTE: Matching Equipment Fund applications reviews are anonymous. This cover sheet will not be included as a part of the actual selection process by the Program Allocations Committee. Consideration of your request will be based entirely on the following proposal. Please TYPE.

OUTDOORS TOMORROW FOUNDATIONOutdoor Adventures Equipment Fund Application

<u>DIRECTIONS</u>: Please click on shaded gray box to begin typing. Press **TAB** to move to next section. If an appendix is needed for supplemental material, it must be limited to a maximum of <u>three</u> pages. PDF documents may be handwritten. **Do <u>NOT</u> include campus or teacher name in this application.**

e of Proposal Request:	Implementation Date:
lustion Data (Unan completion of project or within	
idation Date (Opon completion of project or within .	12-months):
al Amount of Request:\$	
Describe the need for this project.	
List the major objectives for this project.	
Briefly describe the project. (Give specific example	es of project usage.)
Approximately how many students will benefit fron	n this project?
Could this project be sustained after the funds are e	xhausted? Explain.
	e been achieved? (A written project evaluation is REQUIRED at ctures and newspaper articles that support the project evaluation.)
	How will you evaluate whether your objectives have

Outdoors Tomorrow Foundation is a qualified 501 (c)(3) charitable organization under IRS regulations

7.	Could you complete this project with partial funding?	yes	no
	If no, where would the additional funds come from?		

8. Please list your budget requests **in order of priority**. Detail your budget request. If a kit is included, please <u>detail</u> the contents. Include specific information on materials and equipment needed and their sources, duplicating costs, and any other fees, charges, and payments.

(NOTE: Copies of all invoices must be attached to the written final evaluation.)

NASP Archery					
Right Hand Red Cherry			10	\$113/bow	\$1,130.00
Left Hand Lemon Easton-Truflite 1820 Aluminu	m 5 dzn (Pu	blic School price	2	\$113/bow	\$226.00
\$150 only if school purchase directly with NASP)		1	186/ box \$159	\$186.00	
Morrell 33" Eternity Target		5	/target \$316 /	\$795.00	
BCY 30' x 10' w/ carrying bag			1	net	\$316.00
Papes Repair Kit #102 Hold Up Display			1	\$101 kit \$183	101.00
Bowrack			1	each	\$183.00
Cabela's					
Outfitter Series Cast Iron Dutc	h Ovens	10 in. 6 QT	3	\$49.99	\$149.97
Outfitter Series Cast Iron Dutc	h Ovens	12 in. 8 QT	3	\$59.99	\$179.97
Dutch Oven Lid Lifter		15"	2	\$12.99	\$25.98
Charcoal Chimney			4	\$17.99	\$71.96
Outdoor Cooking Gloves			2	\$12.99	\$25.98
Ironwood Pacific					
Backyard Bass			6	\$8.99	\$53.94
Pure Fishing					
Abu Garcia Dude Spincast	1365463		9	\$19.44	\$174.96
Pflueger Fly Kits Shakespeare Ugly Stik	1150786		9	\$23.65	\$212.85
Spin Spin	1147802		10	\$17.32	\$173.20

\$595.00

Shipping and processing

Total \$4,600.81

Outdoor Adventures Vendors

Because Outdoor Adventures is now nationwide, the OTF ask each school district to set up the following as vendors and order directly from them. If that is not an option, the OTF can be a vendor for Outdoor Adventures equipment.

1. Pure Fishing Youth Programs

Lisa Blume

Pure Fishing Youth Programs
7 Science Ct.
Columbia, SC 29203
A Subsidiary of Jarden Outdoor Solutions, Inclgblume@purefishing.com

Website: https://mpf.shakespeare-fishing.com/youth_program_sign_in/login.php

2. Cabela's Customer Vendor Details

William Leach

Account Manager
Corporate Outfitter
Cabela's Inc.
800-440-0257
william.leach@cabelas.com
outfit@cabelas.com
www.corporateoutfitter.cabelas.com

<u>Discounting</u>: We offer generous discounts on business purchases based on annual sales volume. Due to our competitive pricing, some exceptions may apply.

<u>Customization</u>: Outfit your entire team with uniforms, clothing, gear and luggage that proudly displays your company's logo. Our Logo Specialists are standing by, ready to recreate any design with unbeatable precision and detail. In addition, we offer free logo setups and discounted application fees.

<u>Award & Incentive Programs</u>: Our specially trained team can help you design a custom employee incentive program so you can reward company employees for safety, years of dedicated service or just say thanks for a job well done.

Annual Sales Volume	GC Discount	Retail Discount		etail Discount Customization	
				Set-up	Fee/Application
\$0-\$5,000	5%	Up To	10%	Free	Full Price
\$5001-\$20,000	7%	Up To	15%	Free	30% Disc.
\$20,001-\$50,000	10%	Up To	20%	Free	50% Disc.
\$50,001-\$500,000	12%	Up To	25%	Free	50% Disc.
\$500,001 +	15%	Uр То	30%	Free	50% Disc.

To Request A Quote

Please contact a Cabela's Outfitter

Phone: <u>1-800-243-6626</u> Fax: <u>1-888-248-8311</u> Email: <u>outfit@cabelas.com</u>

PLEASE INCLUDE

Company Name & Customer Number – Billing & Shipping Addresses Contact Information – Phone/Email Catalog numbers for each item Artwork – If you'd like any of the merchandise customized

3. NASP Archery

Michelle Huibregtse

NASP, Inc. W4285 Lake Drive Waldo, WI 53093 Cell (920) 946-7718 Phone (920) 523-6044 Fax (920) 523-6042 michelleh@nasparchery.com

The companies below do not set up as school vendors but you can order from them since the orders are typically under \$100.00.

1. Backyard Bass, Ironwood Pacific

http://www.ironwoodpacific.com/products/fishing/backyardbass.htm

2. Outdoor Safe

Peter Kummerfeld't DVD's, survival skills materials are on his website: www.outdoorsafe.com